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POPULATION STUDIES

PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

All questions are compulsory.

Read the following passage and answer the

questions below (1t0 6) :

The Central Government provides for
environmental protection by ensuring safe
management, handing and disposal of
biomedical and radioactive  waste.
Biomedical waste means dry solid, fluid or
liquid waste including its container and any
intermediate product, which is generated
during the diagnosis, treatment or
immunisation of human beings or animals
in research including the animal waste
from slaughter houses. Disposal means
discharge, deposit, dumping, land filling or
placing on land of any biomedical waste.
There are persons and organisations
responsible for these activities. The
authorised persons include incharge of a
hospice such as hospital, nursing home,
clinic, dispensary, laboratory, health
centre, animal house, slaughter-houses
including those established by or under the
control of government, which generates
and handles any biomedical wastes.

The combustible waste is converted
into  non-combustible by incineration.
Some treatment is also done to render such
waste non-hazardous to human health and
environment.

1.  Biomedical waste includes which of

the following ?

(A) Dry solid, fluid or liquid waste

(B) Waste generated during
diagnosis,  treatment  and
immunisation

(C) Wastes from slaughter houses

(D) All the above

2.  Safe disposal of hazardous waste is
necessary for which of the following
reasons ?

(A) To safeguard human health and
environment and observe the
government rules

(B) To ensure clean environment.

(C) To make hospitals hazard free.

(D) To discard radioactive waste.
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Disposal of waste refers to which of

the following ?

(A) Depositing the waste in far off
place.

(B) Dumping the waste in landfills.

(C) Discharge, deposit, dumping
and land fill by waste in places
away from habitation.

(D) Collection of waste.

Nursing homes, laboratories, animal

houses and slaughter houses are

responsible  for which of the

following waste related activities ?

(A) Providing healthcare

(B) Generating and  handling
biomedical wastes

(C) Producing meat and meat
products

(D) Conducting diagnostic tests

Incineration is a process which is

used to

(A) convert combustible waste into
non-combustible residue

(B) Collect ash from the waste

(C) Destroy waste

(D) All the above

‘Environmental Protection’ includes

(A) safe management of waste

(B) safe handling of waste

(C) management and disposal of
waste

(D) safe management, handling and
disposal of biomedical and
radioactive waste.

Which one of the following is not

correctly matched ?

(A) Rank-size Rule : City Size

(B) Logistic Curve : Pattern of
Mortality

(C) Gini Coefficient : Concentration

(D) Whipple’s Index : Digit
Preference
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AT T U T TR (75) Tg-aehedd W © | T A R a1 (2) SR T | Wt 0 Sfar € |

T uftessg &t ufed i T 52 oot (1 9 6)
éswaﬁf?rq:

%5 WHN Sa-fafhedd A gyt
3TTYT T TR UeleH, TE-3@ra 3R e
Gfvad F¥eh RTeR0T Hael T TS
T | SOk euiTe ¥ e %k 2,
WA AT 5 YURTE ¥ &, 90 3TF U 3
g T HTeATHF ST o A &, ST AT
95, STER A1 HARETiRoT & SRE a1 SFEEE
o gyl ¥ ST g €, SO gaga 9 uspst
1 R W A € | Fueq ¥ ared fea
S e & fagse, T

e 3K tmﬁaTUT é? fou o9 smufyre =i
S & M & TTT F S fohar STar ¢ |

1. Sa-3mbme § fefated § @ ®F @
A & 2
(A) I M, TS AT 59 AR
(B) F’M, STER 3R wfdwefisor &
TR U7 g3 ST
(C) TosEmI ¥ IURT
(D) S Jr

SATEHYU] TR & G Haem
feteiad o 9 fohe SROT ¥ 2Tavas § 2
(A) S WReT Y TFTERoT B GRET

A TR HT 1 9o A &

ferw
(B) Y= TRl FHvad i & feaw
(C) 3Tadrel ol SHEmRied - & folg
(D) et T At gaF FH &F
ferw

no
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3.

iy 1 fuer FEfatad 5 9 5
T FRAT E 2

(A) 3T P T e | e
(B) wis fther # erufyree wi=iglg

(C) 3mRre & afcal & 3 foasH,
(D) TR TehRaHoT

T W, YAy, U]
. TAARET TR Fa
ferameheral ° 9 foraeh forw e & 2
(A) TR @IS FHEAT |
(B) “a-fafbcdim smfdme @81 el
AN IHHN TE-TE@E T |
(C) =/ 3R T IS IR AT |

(D) =1k TRIeToT LT |
wwaﬁwﬁm@ﬁﬁrm%

fSTgepT 39AT fefefEd o 9 foeaes g

fepan frem & 2

(A) IR IURTE H EET TARTL H
REfad T |

(B) ST ¥ TG UHT HEAT |

(C) TR &l T HAT |

(D) Swge @t |

TATERE TR # fEfated § ¥ @

iAo € 2

(A) TR 1 FIT qag

(B) R F YUed W@-TE@d

(C) oM 1 Yeee 3 HueH

(D) Sofafecdm R Aedmdr
OIS T G Tee, T-T@e
3 Fuem

frefefaa o @ = a1 g gafer & & 2
(A) TS w2 grs
(B) gRrHud I :uaiﬁTao‘rﬁzﬁ

(C) Tt Wi -
(D) feuew i : fefve miwdg
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10.

Match the contraceptive methods
with the technique/ingredient :

Contraceptive Technique /
Method Ingredient
a. Oral Pill i. Copper-T
b. Intra-uterine ii. Laparoscopy
Device
c. Foam tablets iii. Non-scalpel
Procedure
d. Female iv. Progestin
sterilization
v. Spermicide
Codes :
a b C d
(A) i i i v
(B) iv il i iii
C) iv i ii iii
(D) iv i v ii
Match List — I with List—II :
List—1 List— 11
a. Crude i. Based on total
death rate population
b. General ii. Based on per
Fertility thousand live
rate births
c. Infant iii. Based on female
mortality population of the
rate reproductive age
groups
d. Gross iv. Based on female
Reproduc- births
tive Rate
Codes :
a b c d
(A) i iv i
(B) i i i iv
C) i i iv i
(D) iv il i iii

The PNDT Act was enacted to stop
(A) Legal Abortion
(B) Sex Selective Abortion

(C) Abortion Care to
Mother

(D) Abortion Care to Rape Victims

Unwed
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11.

12.

13.

14.

15.

Maximum life-time male migrants in
India are observed in which of the
following streams ?

(A) Rural to Rural

(B) Rural to Urban

(C) Urban to Urban

(D) Urban to Rural

Percentage of life time female
migrants in the total female
population of India is around :

(A) 45percent  (B) 35 percent
(C) 30percent (D) 25 percent

The maximum proportion of female-
headed households is found among :
(A) Christians

(B) Hindus
(C) Muslims
(D) Sikhs

Match the following List — | with
List—11:

List— 1 List— 11
(Authors) (Contributions)
a. Losch i. Land-use Theory
b. Todaro ii. Concentric-Zone
Theory
c. Burgess iii. Migration Theory
d. Von iv. Central Place
Thunén Theory
Codes :
a b C d
(A) i i i v
(B) ii i iv
(C) i v i i
(D) iv i i i

Rural-urban fringe is a

(A) afunctional zone around a city

(B) an administrative unit on the
fringe of a city

(C) a commercial and industrial
hub-buh of a city

(D) Green-belt surrounding the city
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8. MMUus fatE  H STSTe
TR/ GHeE & A1 FHIAT HIFT -
mifRiaws fafy TAteaTes
a. fremaet Q. wued
et
b, JiqTRET i, iR
il |
C. ST et et jii. AH-Sheaet
Tishar
d. R ST v, TR
v. THEES
(ST
0 ol
a b Cc d
(A i Qi i v
B) iv Qi i i
©) iv i i i
(D) iv i Y, i
9. A - | H A — |l % T Gl
HIT |
=it - | =t -
a. SWNad i, Tl TGS W
T T 3R
b. T ii. Uid &R Siifed =
ST ¢ e U ST
c. RUF i, TIECURA Y TR
2y &l FerEt s SHaE
T 3R
d. g&eT iv. ScTeRTeT % S W
TR 3R
T
e
a b c d
(A i iv il i
B) i i i iv
€) i i v i
(D) v il i ii
10. WA Ed. eufEm fHE e & fou
IR feRam T o 2
(A) oY T
(B) forT =@t T
(C) oiforenfea Afeemmsti & Tud i
A
(D) TATHR H RPR Afeared &
TS Bt SGHTA
D-15-13

11.

12.

13.

14.

15.

IR T My TSl o8 yanaa
i Frefefad 3 9 fg T 3@ S € 2
(A) T | e H
(B) i@ W IETH
(C) v TR H
(D) ¥R A TEH

STSTER Ve HigerTeT st Traeraar TRd
1 ol ATt STHET T T
(A) 45 w9 |
(B) 35U ¥ |
(C) 30 wfaera & |
(D) 25 faera & |
Afeet ggar aret =R HT Afway
3T T & ST E |
(A
(B) fegat
(C) FEamH
(D) few
ettt g — | 6 g - 11 9 gaferd
HIfTT |
= - | = - 1
QeED) (@rTET)
a. T i g 3w fegid
b. e ii. Gh5oT 3Tt (Hgid
c. TG iii. e tagma
d. o= iv. d2oT i fagi
WS
a b Cc d
(A i Qi i v
(B) i Qi i v
(C) i ivooi i
D) iv Qi i i
TTHIOT-97e ST &3 &

(A) f&d TR & T AW A
UehTaTcHe 3T

(B) fohdl 77 &t W1 R U ULMH(H
TR

(C) Tdr TR @ aivisgs 3R
et g

(D) R & @RI 3R &l &RA T2
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16.

17.

18.

19.

20.

In Christaller’s model of central

places, K-3 stands for

(A) Market-cum-Administrative
Principle

(B) Transport Principle

(C) Market Principle

(D) Administrative Principle

In Christaller’s Central Place Theory,
which one of the following alphabets
represents the largest boundary of the
region ?
(A) A
€ G

(B) B
(D) K

Rank-size Rule was originally put
forward by

(A) Felix Auerbach (1913)

(B) C.W. Burgess (1925)

(C) Walther Christaller (1933)

(D) OHK Spate (1948)

Package of ante-natal services for a
pregnant woman in Indian family
welfare programme includes the
following services :

(i)  First check-up in first 12 weeks
(i) At least three AN check ups

during pregnancy

(iti) Consumption of at least 90 IFAs
(iv) Atleastone TT

Full ante-natal coverage of a
pregnant woman will mean the
following :

(A) (i) + (ii) + (iii) + (iv)
(B) (i) + (iii) + (iv)
(C) (i) + (ii) + (iii)

(D) (i) + (iv)

According to the Sample Registration
System in India, the level of infant
mortality rate in India is close to the
following figures :
(A) 50
(C) 30

(B) 45
(D) 48
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21.

22.

23.

24.

The Sample Registration System

does not provide data on

(A) Population composition by
broad age groups.

(B) Sex and marital status

(C) Fertility and Mortality levels
for India and bigger States
separately for rural and urban
areas.

(D) Couples currently and
effectively protected in India
by various methods.

Which among the following year
Government of India conceived the
Annual Health Survey ?

(A) 2004 (B) 2005

(C) 2006 (D) 2007

Assertion (A) : There are many
environmental issues in India
namely air pollution, water
pollution, garbage disposal and
high rate of growth of the
country’s population.

Reason (R) : Economic development
and high rate of growth of the

population is causing
environmental issues.
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Who among the following proposed
Wealth Flow Theory in the area of
fertility ?

(A) Malthus

(B) Caldwell

(C) Ravenstein

(D) Chandrasekharan
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16.

17.

18.

19.

20.

IR o I g Higed | $-3 H
AT &

(A) TSR Td TRTEHS (s

(B) ufeRA & fagid

(C) IR & fagid

(D) eI g

FERR % W ww faga o
fr=fefad 5 & 9 91 3R &F Ht oldlt
AT I USRI AT & 2

(A) A (B) B

(€ G (D) K

U & PR H 90 Hord:
AT | o+ IR fohar o7 2
(A) ThicteRT e (1913)

(B) wtzsqg. a9 (1925)

(C) areer e (1933)

(D) sTu=H, W (1948)

TR H UNER ool e o Tad]

i % o ugaqd Qansti & UehsT § i

Tt Hamd enHe € 2

(i) w9 12 9@ H yIq @
TRpeTor

(i) ™Eer H @y § FH-9-FH
T TRFEe ST TRHToT

(iii) T ¥ FHH 90 3TE.UF. TS, FH Fa

(iv) FH-9-%7 TH 2.

T S B qUT UFEgd S UehsT

A €

(A) (i) + (ii) + (iii) + (iv)

(B) (i) + (iii) + (iv)

(C) (i) + (i) + (iii)

(D) (i) + (iv)

IRA | HUeT IRLYH e & AR,
BTy AT X A WX HEfatEd § 9
for T & e € 2
(A) 50
(C) 30

(B) 45
(D) 48
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21.

22.

23.

24.

GO GSiiehoT JTedt § fefarted o 9

foreer Ty | 3ifehe el 5T S € 2

(A) SUF T TYE ATl STAGEAT

(B) TomT 37 anfess feafe

(C) wmHioT 3T} vl & & fotw vra
AR SUFd I TS & few
USRI 3R gogal S 3Te-
ST AT

(D) fafa= fafeal @ 9Ra & adq= o
31T Tl & 9 RIS Sutd

fAfefed ¥ 9 9 99 9Rd WHR 3
IO T TEeT0T & S § {7 2
(A) 2004 (B) 2005

(C) 2006 (D) 2007

Afpe (A) : 9RT H IR0 Gat
TEUUT, HERl-HUSH q9T I
ST B 3T gy 3T |

HROT(R) o foerg der
SHEEAT Hf 39 gy T TAER |
Feiferd HE e B € |

WS

(A) (A) ¥R (R) §H ¥ & 3R (R)
(A) F el T F |

(B) (A) 3R (R) Tl ¥ & ] (R)
(A) =l T& =T T E |

(C) (A)T@ T, W (R) 3T ¥ |
(D) (A)3¥@F &, W (R)TAE |

freferfad & & frem asFelicrr & &9
o o vae fogia o ufadee fear g 2

(A) A"
(B) wredd
(C) Yo
(D) <svrERA
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25.

26.

217.

28.

29.

30.

We use the method of age

standardization of fertility to

(A) exclude effect of age
distribution  in  measuring
fertility

(B) exclude effect of differences in
fertility

(C) compare fertility in two
population groups

(D) compare age distribution in two
populations

Who among the following has written
the book ‘Population Bomb’ ?

(A) Notestein

(B) Keyfitz

(C) Paul Ehrlich

(D) Becker

High Density of Settlements occurs
in the

(A) Equatorial Region

(B) Tropical Region

(C) Temperate Region

(D) Mediterranean Region

A metropolitan city in India is a city
with a minimum population of

(A) one lakh

(B) ten lakhs

(C) onecrore

(D) ten crores

The structure of a settlement at a
given point of time, is a function of
(A) forces of concentration

(B) forces of dispersion

(C) forces of nucleation

(D) All the above

Central Place Theory is based on the
principle of

(A) Uniformity

(B) Homogeneity

(C) Diversity

(D) Collectivity
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31.

32.

33.

34.

A Central Place Region is a
(A) Formal region

(B) Functional Region

(C) Administrative Region
(D) Corporate Region

Arrange the following States by their

current level of natural growth rate,

from high to low.

I. Uttar Pradesh

ii.  Bihar

iii.  Madhya Pradesh

iv. Rajasthan

Codes :

(A) i i i v

(B) i i iv i

C) ii i iv i

(D) i i i iv

Think of different columns of life tables

like |, q, L and T .Survival ratio at
X'nX n X X

age 15 to age 45 is computed as

—

(A) L—‘l‘z
|

(B) ﬁ
L

C) 7455

(D) None of the above

Some important National/
International days are shown in
List — I and their dates in List — II.
Match the days with their dates :

List—1 List— 11
a. World Health i.  April 7
Day
b. World Breast- ii. August 1
Feeding Day
c. World Heart iii. December 1
Day
d. World AIDS iv. September 29
Day
Codes :
a b C d
(A) i i i v
(B) i i iv i
(C) ii i i v
(D) i i i iv
D-15-13



25.

26.

27.

28.

29.

30.

e e #® ¥ fews oo

USRI S 3T & THehisheoT i

fafer <1 TR e € 2

(A) USRI % HTaF H 37 faaror
% TS BT JIF HA H [T

(B) USHARIGIAT H 3R % THIE
gk e % folT

(C) & SHUE el H USHARNCAT i
T X o fere

(D) T SHOEet § g faawer @t
o A o e

‘TS T T T TG BT & ?
(A) FiewT (B) wifthest
(C) dumuwefera (D)

T 4 few &% % stea |§ S
ST-GET Bl € 2

(A) g &5 |

(B) SWHicadg &= §

(C) irdooT &=t &

(D) AT AR & |

TR H HeTFTR HH-H-HH fohd-l SHEET
AT IR & 2
(A) THAE
(B) =@ o™
(C) wHHs
(D) TF e

fordt feu MU wa-faeg OX St ot e
TepehT Ueh 1 & 2

(A) THEZUT & TA

(B) fo=wa & a1

(C) -iyehizraT % T

(D) S

T w9 A fFEfefed § 9 5w
THgTa W e € 2

(A) THET

(B) TSI

(C) emehar

(D) wmfes
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31.

32.

33.

34.

oA g T &

(A) T 3o &
(B) WehrEicH &
(C) vRIEM® &=
(D) fife &

IO g X & 39T 9 = Fd9 wR)
& %Y 4 FEfdiEd Toa sl SFarerd
HITTT

i, SWIWRW i. fw®r

iii. T RS iv. e

B

A i i i v

B) i Qi v i

©) i i v i

() iii i Qi v

Stiert RIvRH o fefe =i SR 1, g
L T T W fER ST 115 F 45
Iy FI Mg T SHifad W F ST H
IReme fohe T H foar e 2

L45

A T
L15
s

B) j

15

L45

(C) E
(D) S H | T el

el — 1§ 5 Hewoul AL HREE
feawt & 9 fgv o & qen ger - 11 H
ST IS @ fatEt §F T E | e
el ok s fE @ gafeE
HITT |

= - | = - 1
a. fovwwrafew i w7
b. Tova W= a9 i, 3FRA 1
c. TvEEAREm i, kEER 1
d. e ued fgad v, faa=rw 29
0

a b Cc d
(A i Qi i v
B) i Qi v i
©) i i i v
() i i i v
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35.

36.

37.

38.

In India, sources of data for
computation of TFR could be

. Census

Il.  Sample Registration System

I11.  National Sample Surveys

IV. Periodic Sample Surveys

Code the combination of sources
which are correct for India.

Codes :
A L1V
(B) 1,1V
(C) 1,11
(D) 1,1

Arrange the following indicators
according to their refinement level,
from least to the most refined :

l. GFR II. CBR
. TMFR V. TFR
Codes :

(A) | I v 1l

(B) 1l "1 Y

© no1roomov

(o) I | I O AV 11

What is ‘Kyoto Protocol’ ?

(A) International Agreement for
Emission Education in the
Convention on Climate
Change.

(B) A city with this name in Japan.

(C) International Convention on
urbanisation.

(D) Most urbanised city in Asia.

Rank, from higher to lower, the
following North-Eastern States by
their literacy level in 2011.

I. Meghalaya ii.  Nagaland
ilii.  Assam iv. Mizoram
Codes :

(A) iv i i iii

(B) iii i iv i

(C) i v i

(D) iv i i i
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39.

40.

41.

42.

Rank the following Union Territories
in ascending order by population
density in 2011 Census :

a.  NCT of Delhi

b.  Dadra and Nagar Haveli

c.  Chandigarh

d.  Andaman and Nicobar Islands
Codes :

(A) c b a d

(B) b C a d

) d b c a

(D) a c b d

DOTS is a national program to
address

(A) Malaria

(B) Filaria

(C) Tuberculosis
(D) Japanese Encephalitis

Arrange in ascending order the
causes of maternal mortality in India.

I. Hypertensive disorders
ii.  Sepsis

iii.  Haemorrhage

iv. Abortion

Codes :

(A) iv i ii iii
(B) iii i i iv
C) ii i i v
(D) iv i i i

As per 2011 Census,
literacy rate in India is about

(A) 70 percent
(B) 80 percent
(C) 65 percent
(D) 50 percent

effective

D-15-13



35. YRd H & TF AN &% URHed & (o

36.

37.

38.

2 & A DI I & T € 2

l. STITOTAT

Il. T9A YSTa= vome

I, T Hoer qaeqor

V. 3Tafues JueT Jaeqor

TRA & (6T WEl WA ol Hig i
qg—dTﬁ"I:

HES

(A) 1,1V (B)
() 1, (D)

I, 1v
I, 11

FATARad gaehl i 37 IMeA & TR
% STER, JAqH IMeT O Teshay Ime
% Y T HANEI HITT :

| SHUw3IR

Il Sranew,

. S THTEAR,

V. JATEIR

HE

A |1V

B I 1m 1 IV

@ 1 1 omov

O I 1 v oI

‘TN TSI’ I & 2

(A) SoEr URed W e |
SeOSH-TITET T ST A

(B) SIUM H T A AT UH I

(C) TRLIehRuT X TR T e

(D) TfeTN 1 STty YRS IR

g 2011 H FATeREd STR-gat TSt
3T TR o R 6 39 § =
S T SEed Hit

I. e ii.
ii. @™ iv.
HE:

A v i i
®) i i v i
©) i v Qi i
O) iv Qi Qi i

EIUIGES
EEire

D-15-13

11

39.

40.

41.

42.

Y 2011 I SFOMET | ST MU SHEET-
9T o YR W A=fafad Seentad

&5 T TR 31 | AT T
a. g TetuET & oot

b. IR SR TR g

c. TUENE

d.  ewenH ud HeRleR guage
BS:

(A) ¢ b a d

(B) b c a d

) d b c a

(D) a c b d

2y (Sanduy.) HAfefad o ek
STIR ¥ Fetad Ueh T HrshH § 2
(A) TeRE

(B) AR

(C) ZgTFpeitaw

(D) ST dfatheeied

IRA § AG-HaT & HRUT hl TR

9 H HAId HIfT :

i, oYafus AFrEs aAE 9 g arelt
fareptaat

i, faarn (@)

iii. T

iv. U

HE

A ivoi i i

®) i i i v

© i i i v

O iv Qi i i

g 2011 Hf SHIUFT & SFTAR 9RA °
AR TTEIRAT T AT Tohet & 2
(A) 70 wfaeTa
(B) 80 wfqwra
(C) 65 ufaera
(D) 50 wfaeTa
Paper-I11



43.

44,

45.

46.

Which is the most literate district in
India ?

(A) Sherchip (Mizoram)

(B) Ernakulam (Kerala)

(C) Pune (Maharashtra)

(D) Bhopal (Madhya Pradesh)

Which is not a part of the goals of
National Population Policy 2000 ?

(A) Improve education level
(B) Improve age of marriage

(C) Address unmet needs of family
planning methods

(D) Improve the economic status

Match the following national
programmes with their objectives :
List— 1| List— 11

a. Kishori Swasthya i. Employment
Yojana

b. Janani Suraksha ii. Adolescent
Yojana girls’ health

c. Integrated Child iii. Maternal
Development Health
Scheme

d. Mahatma Gandhi iv. Children
National Rural below 5
Employment years
Guarantee
Scheme

Codes :
a b C d

(A) i i i v

(B) ii v

C) iv i i i

(D) iv il i iii

Which of the following is the
primary component of Janai Shishu
Suraksha Yojana ?

(A) Early Registration
(B) Institutional Birth

(C) Post Delivery Care
(D) All the Above
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47.

48.

49.

50.

5l.

52.

Which among the following States
has the lowest maternal mortality
ratio ?

(A) Kerala
(B) Karnataka
(C) Goa

(D) Maharashtra

Which among the North-Eastern
States of India has the highest
fertility ?

(A) Meghalaya

(B) Nagaland

(C) Assam

(D) Mizoram

National Rural Health Mission
(NRHM) was launched in

(A) 2001

(B) 2003

(C) 2005

(D) 2007

According to 2011 Census, which of
the following is the most urbanised
State in India ?

(A) Maharashtra
(B) Karnataka

(C) Goa

(D) Andhra Pradesh

‘Health for AIlI’ Declaration was
signed in which city ?

(A) Helsinki

(B) Rio de Janeiro

(C) Alma Ata

(D) Beijing

The last international convention on
climate change was held in
(A) London
(B) Copenhagen
(C) Oslo
(D) Tokyo
D-15-13



43. ¥R H GO9Iy R e ® @
T2
(A) it (Esm)
(B) THIHeH ()
(C) TU (TR
(D) Tt (W s
44, FEAftEd § ¥ B UL S it
2000 & AT T ST T&T & 2
(A) TRTeT % TR Pl T |
(B) foame &t o1 agm |
(C) uiar faism fafuai =i amgd
STETIAHATT T Tl AT |
(D) onfees featd & Hafg e |
45. §E-l ¥ KU T UL FEEH B
-1l 7 5T T 37 3zevE § g
FITT |
= - | = - 1
a. TFo @ AT i AR
b. S g@U AN ji. IR
@
C. UHipd ot fobra i, O1g-
pISE] @
d. T M g jv. O™ ey
TTHIOT ASTIR TR q 5 3H
IS % e
S
a b c d
(A) i i i v
B) ii i v i
C) iv i i i
) iv i i i
46. Tr=fafed § & & @1 ST orS] gReT
FISHT 1 Teh T4 SURH € ?
(A) SR USiET
(B) 3T | SFH
(C) wgd Uvad STt
(D) S et
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47.

48.

49.

50.

5l.

52.

Trefetaa 5 9 59 59§ Ag-Acdr
T FAAH € 2

(A) &

(B) wARH

(C) e

(D) werT

IRA & HfarEd Saegel Tsa |
ferw USTaT e 3Tfueh ¢ 2

(A) TEE

(B) TrTeis

(C) smEm

(D) ToeiRT

T wHe | e
(1.3 TAUH,) T Ha IR foBar Tar
or 2

(A) 2001

(B) 2003

(C) 2005

(D) 2007

ag 2011 H SEOET % SFER
frteiad 5 9 e I o1 9o 1
IEIHIT E3T & 2

(A) werTZ

(B) FHACH

(C) e

(D) 3Ty u=eT

g T 0 e gad o’ (@09 B
31TeT) EYUT W g&AeY T T 2

(A) &eaent

(B) &t fe st

OREsIE

(D) sifsmT

Sy URae W s i
T 1 TS el [haT T o7 2
(A) T

(B) Ut

(C) sf

(D) <
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53.

54.

55.

56.

Which of the following is not related
to the study of fertility ?

(A) Fecundity

(B) Birth Spacing

(C) Reproductive health

(D) Child immunization

Arrange the following cities in
ascending order of their population
size :

(@ Indore (b) Bengaluru
(c) Darjeeling (d) Srinagar
Codes :

(A) Srinagar, Bengaluru,

Darjeeling, Indore
(B) Bengaluru, Indore, Darjeeling,

Srinagar

(C) Srinagar, Darjeeling, Indore,
Bengaluru

(D) Indore, Srinagar, Darjeeling,
Bengaluru

Rank the following States, high to
low, by percentage of population in
ages 0 —6in 2011 Census :

I. Tamil Nadu

ii. Kerala

iii.  Andhra Pradesh

iv. Karnataka

Codes :

(A) i v ii

(B) iv i i ii

(C) iv i i i

(D) i v i i

Match the States (List — 1) by rank in
population size (List—11) :

List—1 List—11

a. West Bengal L1
b. Madhya Pradesh  ii. 2
¢. Andhra Pradesh ii. 3
d. Rajasthan iv. 4
Codes :

a b C d
(A) i i i iv
(B) ii iv i
(C) i i ii iv
(D) i ii i v
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S7.

58.

59.

Which of the following is not a goal
of National Rural Health Mission
(NRHM) ?

(A) Reduction in Infant Mortality
Rate (IMR) and Maternal
Mortality Ratio (MMR).

(B) Universal access to public
health services

(C) Prevention and control of
communicable and non-

communicable diseases
(D) Employment guarantee

Arrange the following States by their
sex ratio in 2011 Census, high to low
(sex ratio is defined females per 1000
males) :

(@) Uttar Pradesh

(b) Bihar

() Rajasthan

(d) Madhya Pradesh
Codes :

(A) (@ (b (© (@
B) d (© b @
€ @ (b @ (©
(D) (@ () (@ (

Arrange the following North-Eastern
States by their sex ratio (females per
1000 males) in 2011 Census, high to
low :

(@  Sikkim

(b)  Arunachal Pradesh
(c) Nagaland

(d) Manipur

Codes :

(A) (@ (b)) () (d)
B) @ © b @
€ @ @ (@ (b
(D) (b) (@ () (d)
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53.

54,

55.

56.

Tl & & fhae HaY SHTeTa
(WiefeTe) & 3Teaa= | T8l & 9

(A) SFHARIRRT (Hehteer)

(B) -3

(C) TEE: @

(D)  STeA-HfceeToT

SHEEA % SHR % AR FEfead
YRR} ST STRIE hH T HAd I -
(@ KR (b) dTerE
(c) wsiifent d) R
HE:

(A) AR, S, T, R
(B) eI, SRR, SitonT, SR
(C) R, 3riifer, R, Sef®

(D) TR, #R, ITSiferT, &

g 2011 S STUAT &% STER W 0-6
Y I IH Gl SHEEET Uaeiddr &
3TER P ISt &l 21 | 9
% S | AT HIT

i A

i, oo

iii. 3Ty vRw

iv. eH

WS

(A Qi ivoi i

B) iv il i i

©) iv i i i

(D) iii iv i i

gt - | AR s W g - 1 F
feu U SEE % AR § 39 36 9
goferd T
e - | = - 1
a. UFEHETA Q. 1
b. TeT URwr i, 2
C. MY WeW iii. 3
d. TS®&H iv. 4
WS
a b c d
A i Qi i v
®) i v i i
©) @i i i v
O i i i v
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57.

58.

59.

fAfefad 5 ¥ &9 91 T=E uHor

W MY (TH.eTRUAEH.) & UH

AT T 2

(A) T Tdr 3T (SMETA.3R,) aqAn
AG-IaT 3T (WH.UH.3TR,) |
FH AT |

(B) WESHe WA garel d%
farvereTdt wg=

(C) Tehmeh TAT 3THhMAsE IAM i
eheT AT T

(D) TSR RS

g9 2011 H FTOET F FEX W
PTG T3l S 376k ol 3T &

TR 319 ¥ HH & HA H Fad
HISTT (e erar = 1000 e W
ot # g & ' o, it fear
ST e) |

(a) WY

(b) TR

(c) TS=H

(d) == Uy

FS:

(A @ () () (@@

B) ) () ®) ()

€ @ (b @ (©

O @ (b @ (o

gy 2011 & SAUHT F FER W
Fffad STR-gaT Tt i 37k o
3T (fd 1000 TS WX e @
&) & AR AT DT
(a) TafwRm
(b)  3TEUITEA U
(c) -meis
(d) gz
HE
(A) @ () () (@)
B) d () b @
€ @ @ @ O
D) (b @ () ()
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60.

61.

62.

63.

Which of the following types of

errors were evaluated in the Post

Enumeration Survey (PES) of 2011

Census ?

i Omission

ii.  Duplication

iii. Content of all items in the
Census Schedule

iv. Content of some items in the
Census Schedule

Codes :

(A) i i iii
(B) i ii iv
C) i i

(D) iv

Which of the following is not an
element of Intermediate variables in
fertility analysis ?

(A) Breast feeding

(B) Open birth interval

(C) Contraception

(D) Age of marriage

Rank, from higher to lower, the
following four States of India
according to their literacy rate in
2011 :

I. Uttar Pradesh

ii.  Bihar

iii.  Rajasthan

iv. Madhya Pradesh
Codes :

(A) i iv i i
(B) iv i i
©) ii i iv i
(D) iv i i i

What is the correct number of
questions in the household schedule
(for population enumeration) used in
2011 Census ?
(A) 35
C) 29

(B) 21
(D) 26
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64.

65.

66.

67.

68.

National Health Policy was adopted
in India in which of the following
years ?

(A) 1963

(B) 1973

(C) 1983

(D) 1993

When was the National Forest Policy
formulated for the first time in the
independent India ?

(A) 1952

(B) 1961

(C) 1971

(D) 2002

NACO is an organisation which
deals with which of the following
health concerns ?

(A) HIV/AIDS

(B) Kala Azar

(C) Pneumonia

(D) Typhoid

Which of the following services are

not provided by the Anganwadi

Centres ?

(A) Immunisation  and
check-ups

(B) Treatment of minor illnesses
and referral

(C) Growth monitoring and
supplementary feeding

(D) Water and sanitation

health

As per the norms for the health
facilities in India, what population
size should be served by a Primary
Health Centre (PHC) in hilly and
tribal areas ?

(A) 20,000
(B) 50,000
(C) 1,00,000
(D) 10,000
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60. a9 2011 I SHIUAT s IAC TUFT

61.

62.

63.

WWW@:W)‘*

fr=fefad 5 & 69 wR o Jiear @

TR foha & 2

i Toel (3Tt

ii. TR

iii. o9 uegw H WA W W
Terrererag

iv. TO9 YA H FT TR H
foerg

HE

(A i i i
B) i i v
©) i i

(D) iv

S e favelmer § fefefed § 9
I T A = T U o<l el § ?
(A) TaH

(B) W& ST ST

(C) wvfwg

(D) fome i 2mg

a9 2011 H QERAT & % STER 9Rd &
FrfeRad =R T4 & ST @ =
% HH | ZERd BT

i, SRWW

i.  fEwr

i, TSERE

iv. T Uy

WS

A i v i

®) v i i i

© i i v i

O) iv i i i

9 2011 H ST § T ESHE TS
ST (SHEEAT VT & Tw) § weAr i
TE T HT 2
(A) 35
(C) 29

(B) 21
(D) 26
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64.

65.

66.

67.

68.

Tt o 9 69 a9 9 9Ra ° T
e Afd T A TE 2

(A) 1963

(B) 1973

(C) 1983

(D) 1993

AT YRA § UL o AT ot Tt I
e ASF, [hAT AT 2

(A) 1952

(B) 1961

(C) 1971

(D) 2002

wuEet (NACO) Fefafad d 9 i
Toee Geret fore @ getad ¢ 2

(A) T=IME A TS

(B) T 3T

(C) gt

(D) CE%REE

ATHETE! T FNT H=feEd Jarst o

T I G T TTE T Bl A 2

(A)  UfcRETT T T S T |

(B) TG 3R IHT I TTE AT T
SUER HET |

(C) Toh HiHeX AT T FTH
e TgTe AT |

(D) S TS ThRE-EaE |

YRA W @reF glawgel g MUiRg
AUEUE & STER UadE U S
g § ot S W U mEs
W &% ! TITIAT i ST AT 2
(A) 20,000
(B) 50,000
(C) 1,00,000
(D) 10,000
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69.

70.

71.

72.

Assertion (A) : There is a decline in
the number of families living
below the poverty line in India
since the last two decades.

Reason (R) : Per Capita Income in
India has increased during the
last two decades.

Codes :

(A) Both (A) and (R) are true and (R)

is the correct explanation of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Assertion (A) : Human loss and
damage to property due to flash
floods has become common in
the Himalayan belt.

Reason (R) : Global warming has
led to environmental change.

Codes :

(A) Both (A) and (R) are true and (R)

is the correct explanation of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Nodal agency for Annual Health

Survey (AHS) in India is

(A) International  Institute  for
Population Sciences (I1PS)

(B) Office of the Registrar General
and Census Commissioner of

India

(C) Ministry of Health and Family
Welfare

(D) Indian Council of Medical
Research

Which of the following deaths are

included in computation of neo-natal

mortality rate ?

(A) Foetal deaths after 28 weeks

(B) Deaths in the first week after
birth

(C) Deaths in the first month after
birth

(D) Deaths in the one to eleven
months after birth

73.

74.

75.
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Arrange the following stages in order
of their occurrence :

I. Foetus

ii.  Neonate
iii.  Embryo
iv. Post neonate
Codes :

a b C d
(A) i 0 v
(B) iii i ii iv
(C) i i i v
(D) ii i iv il

Which of the following is not an
institutional mechanisms of National
Rural Health Mission (NRHM) ?

(A) Village Health and Sanitation
Committee

(B) Rogi Kalyan Samiti
(C) State Health Mission
(D) Mahila Mandal

Assertion (A) : Earth can support
infinite time of its current
population.

Reason (R) : Over exploitation of
natural ecosystem is the reason
for the current natural disasters.

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.
(D) (A) is false, but (R) is true.
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69.

70.

71.

72.

At (A) : farra 31 gerhl & wRd |
TRIs ¥ % A9 @ ot aiErt
= eI 4 fivee o € |

HROT(R)  : fava 31 39kl § 9RA |
Tifeq et 319 | Seiekl g5 € |

BT

(A) (A) @ (R) SHT T&l € 3 (R)
(A) FT TE LT T |

(B) (A) @ (R) I W&l € 1 (R)
(A) FT TET TR & € |

(C) (A) Wl g, W (R) Tora & |

(D) (A)Tod &, W] (R) Wl ¢ |

afireme (A) : feaem & ° e
3T aTeTt Jg (AT Tl S) & HROT
A SiaT & 81 qer Tt
& TH G A B TS T |

FROT(R)  : Af¥ah AT & BRI
TEERTTg GEdT Bl R E |

S

(A) (A) 3R (R) Tl &t € @ (R),
(A) T TE LT T |

(B) (A) 3R (R) 3Hi @l & W (R),
(A) FT TET T & € |

(C) (A) W& W< (R) Tord ¢ |

(D) (A) Tera & R (R) Tl € |

RA H SA1ieh W Fasl (TIE.0H.)

! et Tl F=fargd J 9 i 9@ 8 2

(A) TTREA LGS A qged
TS (37T, 378 9 0,

(B) 3AMRE 3% T LR SR T0E

(C) faftEdt sk %eor wog fied
AR

(D) Ifea wEfae 31 Afeshet g

TS G ST o ke ¥ Ffrad 3 9
e B bl g B Aot fefam il & 2
(A) 28 T=E & 918 M-I

(B) S % A% WH W W g
(C) <9 % W™ 919 | g

(D) % U& ¥ TR 99 & 3 §g

73. Hied 89 o %A H FEreiEd sTereemat

74.

75.
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o AT FHIFT :
i

ii. Ao
. Y1

Iv. 3T AT
BS:

a b C d
(A) i 0 v
(B) iii i ii iv
C) i i i v
(D) ii i iv i

TrefetEd & 9 $iF T ATHOT W
TH 1 GLINTd UshH el € 2

(A) T @ U Wl 9
(B) Mt shoaToT WHATT

(C) T @ e

(D) wieeT HUEA

AfTHT (A) © Rt S FaEH
SEET T TN ST 99T A%
T HHA T |

HRUT(R)  : Id9 Wi [T &
fow urplass TRfefqet o &
3NTI-3eT TG & |

(A) (A) 3R (R) IHT @&t & T (R)
(A) FT TET LT § |

(B) (A) 3R (R) I Wl & W= (R)
(A) FT TeT TR & € |

(C) (A)Wig, "I (R) @ e |
(D) (A) 7o &, < (R) Tl & |
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